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1. IfS, = (_13"(1+ ;] then (im S,, is T '5n=(_1}n[1+%} Ims, &
€wn ! (A) 1
(8) -1 (B) -1
(C) 0 (C) 0
(D) 2 (D) 2
2. Ifttegral Jix""‘.I?g_x d:f is 2. A ]: X" logx dx #
(A) Proper Integral, when X > 1 (A) "W TIEEE, S/ x > 1

(B) Proper Integral when x < 1 (B) 3R TR, I x < 1

(C) IRFT T, F&n > 1
(D) Fd B, A n < 1

(C) Proper Integral whenn > 1

(D) Proper Integral whenn < 1

= 'sinx S\ SNl @ sink
3 I 372 dx is 3l 'j_% 3. L xa‘,z dx a
o2
(A) Convergent .-;-.h %J (A) FRER
' A
. (B) Divergent (B) AR}
(C) Proper O . (C) R
i) Aways divergent (D) FH FR
4. Let f: RoR is a monotone func- 4. Tfe f : RHR 0P THET B &,
tion, then %‘;
Gl
(A) fis continuous o
(B) fhas ﬁrrlgaaomt of discontinu- (A) Faa @)
! Wi i &
(C} f has countable point of dis- (B) f I
continuity . | :
Y (C) F& MO 3T &)
(D) fhas uncountable many point
of discontinuity (D) & HOFIT JEAA &
US-15105\R 3] P.T.0,
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5. IfSisafinite set them
i
(A) S has at least one limit point

(B) S has more than one limit
point
(C) S has only one limit point
) S has no limit point

@. Hadamard's formula for radius of

convergence |s

(A) R =limSup|g, |
-1 _n 1/n

() R =lim(a,)

() R’ =limInf|a, |

D) BT =lima, [

’.I‘ sin mx
0 c? + x2

LA) Convergent

dx Is

(B) Divergent
(C) Absolutely convergent

(D) May be convergent

-1
The transformation o = [z +zz ] is

;‘_.é_-,
u@ Conformal everywhere
P oo

(B} Not conformal

Yoa

(C) Conformal except at 7 = 41

(D) Conformalatz =1

US-15105\R

8. wfafaam o:=[z*z-l] 2

5, GRS %WW?F{H
(A) Sﬁwﬁﬁﬁwﬁ%ﬁm

&
(B) sﬁswﬂm@ﬁﬁﬁ%ﬁﬁg
(©) S P e v A g e @
(D) S @ 2 e farg TE B 2

6. ﬁmaﬁﬁwﬁmﬁﬁvwm‘.mm

?.

U /0
(A) R —LI:T}SUD|3"|
(B) R-! = lim (a,) "

(C) R~z lim Inf | &,

A=k L

|

(D) R =lm|a,|""

* sin MmX
—dx %
7 Iuc2+x2 g

(A) AR
(B) 3UHRT
(C) wi: st -
(D) sRmrt gt vt 2

'

2
(A) ®r-ers I s

(B) P-DIEdA TS|
(C) aﬁ-@lﬁﬁ'ﬁ‘hmﬂm z=+1
(D) Brerd z = 1 |
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Which is true -
(A) The null set ¢ is unbounded

k87 The null set ¢ is bounded

(C) A finite subset of R is un-
bounded '
(D) None of the above

. Supremum of a § set is always _

(A) belongs to set S
(B) not geatest member of S

(C) exist

‘\-ﬁ) greatest member of S

Uﬁl.

Let S={y:y= |sinx| YxeR}, then
sup S is equal to
(A) -1

ABS 1

{C} 0
(D) =

. Let A={x: x=|§iny|VyeR}, then

Inf A is equal to -
(A} -1
(B) 1

e} ©

\IyB.

(D) -

AN '
IfS=I|/1—l{sirr'gi,ncl\ll,then
' Woonj 12 ,[

SupSis -

(A) -1

B

(C) 3
(D) -3

US-15105\R

[51

9.

Faa -

(A) Res e ¢ siafiags 2 21
(8) R wqmma ¢ wRaz e &

(C) R & At wzaa wfag e
&

(D) 3% ot 7&

. W S & e g -

(A) Wgeed S ¥ v 2|

(B) T S &1 Ied Wi ared] ofedl &
ki

(C), wran S 2|

(D) W=D S FT 34 A qwN |

. gl s={y:y= |sinx| anR},ﬁﬁsup

S 1 W 2N -
(A} -

(’) 1

(C) o
(D) =

. gf& A={x : x=|siny| ¥ yeR}, & Inf

A &
(A) -1
(B) 1
(C) 0
(D) ~e

1y 3\
g S=¢[1 iisin%,neﬂ},ﬂa

|
SupS&-
(A) -1
(B) 1
(C) 3
(D) -3

/

P.T.O.
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?y Sis -
(A) =«
(B) -
L) does not exist
(D) O

, letS= {r +iz,r SGN}thenInf

S will l?e—
(A) D
NCE
(€) -1
{D} 2 e o
16. Letr___ands_“__ then3t___
such that st 2_r. |
«(A) <R, eR?, €I, >
.(B) eR*, eR", cl, <
,(C) eR*, &R, €l, >
(D) eR, eR", eN, <
7. Which is true
][; (A) Qisnbd of all its p_ginvtg_,
(B) R-Qis nbd of all its points
_{e) R-Qis not nbd of all its paints
- (D) R is not nbd of its points

18. Which function is not uniformly con-
tinuous on J0, 1[ '

(A) f(x) = X

(B) f{x) =¢e*

(C) f(x) =sinx

US-15105\R

(6]

15.

16.

17.

18.

1 nq.aa
= =:m,Ne
1f5={m-1:m,neN} then sup 14'Uﬁ5'{m+n
n

SupS't‘-"

(R) =
(B) -w

(C) & am

(D) O

af s= {r +_}. r,sEN} a% inf S
s

2T -

(A) O

(B) 1

(C) -

(D) 2

gk r sfks ___, @@ 3t |
Hst_ r '
(.PL) cR, eR7, cl, >

(B) cR*, eR', €], <

(C) eR*, <R, €, >

(D) eR, eR", eN, <

B axa -

(A) Q gy Tl ot ogN 2 &

(B) R-Q G Tl cFeall BT I &her &

(C) R-Q 3 W adl & @R T
& 2l |

(D) R 3 W% e 1 WY R &Il &1

P A G v THF W | Haa T8

&l
(A) f(x) = x
(B) f(x) = e*

(C) f(x) - sin x

3

{ax )
(D) f(x) = tan| 5
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20.

A ot
ries n_zm is
) [z<1 g
(B) |z|>1 1
(C) 1z-1]< O [‘“@i@gﬂfl
(D) |z-11> 0 A dogu 2
21. Which is nat true - v

&.

L

https://www.ccsustudy.com
19. Which is true for the function

" f{x) =sInx.sin %W €]0, 1]

(Ay lim f(xy = fim F(x)
(B) Ll_rn) f(x) < ll_rpo f(x)

(D) lim fx)=-1

Domain of convergence of the se-

L
(A) Zzn;/— s divergent
=l D g
A
(B) Xz".= is convergent
I'l-'.l n L
v
2 n 1
(C) n%z ~ is divergent when 2=1

(D) n%z".% is convergént_for z=1
Which one is not nbd nf zero-,

A) -1, 1[

(B} (-1, 1].

AC) -1 0[] 0, 1

(D) ]_1.* 2[_

US~15105\R

19,

. umﬁo?fi’_?z

= f(x) = sinx . sin %Vz c]0, 1[ &

for v & -

(A) Im f(x) = lim f(x)
(B) fim F(x) < lim F(x)
(c) limf(x)=1

(D) fim fx)=-1

n{logn)?

@1 FHER 8
3.

(A) lz]<1

(B) Iz|>1

(C) lz-1l< O

(D) |z-1|> 0

21. RT3

22.

(A) n);f-% AR #

B T2 sRmrdi

n=1 n

(C) flzni- FIARG 2 5 z=1

() $2.2 st aw 2=1

B I & B A 2
(A 1-1, i(
(B) [-1, 1]
(C) -1 0[vw]0, 1

(D) J-1, 2

P.T.O.
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\fl Sup and Inf of S is, where
S={x : x « 7 Ix]* > [25.99]}
(A) Sup S=x Inf S=-x :
(B) Sup S=26 Inf 5=25
(C) Sup S=0Inf S=5
L/L-EJ) does not exist
\?. If A={x:xeR-Qand |x|%<[81. 99]}
then Sup A and Inf A are .—.- .
(A) Sup A=9, Inf A=-9
(B) Sup A=9, InfA=0
(C) Sup A=0, Inf A==9
D) Sup A=9.9 Inf A=-9.9
v}rﬁ Which is true, if
ACR, peRis limit point of A
(A) NA(A-{p}) = ¢ v Nbd N of p

L

(B) N_{A-{p})=¢ v Nbd N of p

_—4C) NA(A-{p}) # ¢ ¥ Nbd N of p

(D) NU(A-{p}) =¢ ¥ Nbd N of p
. ﬁﬁ. Which is true-
(A) -D(Q) = D(R-Q) = D(I)
(8) D(Q) » D(R-Q) = D(I)
A AC) D(Q) = D(R-Q) and D(I) = ¢
(D) D(Q) = ¢. D(R-Q) = ¢, D(I)= ¢

US-15105\R

.:1-'.1 =

23, uﬁ S:{X VX

24.

25.

26.

ez, [x|? = [25.99]}
357 S @ FF S T &?

(A) F S=w FF S=-

(B) 3@ S=26 1 5=25

(C) 3@ $=0 A S=5

(D) =& vl

afe A={x : x c R-Q3X Ix|*5[81.99]}
I ATIREAR

(A) 3 A=9 FH A=-9

(B) 3= A=9 f1=1 A=0

(C) 3= A=0 fra A=-9

(D) 3 A=9.9 1 A=-9.9

2t v 2, R

ACR, peR A &1 B 3if=H fag #-
(A) Nr(A-{p}) = ¢ ¥ Nbd N of p
(B) Nu(A-{p}) = ¥ Nbd N of p
(C) Nn(A—{p}) # 6 v Nbd N of p
(D) Nu(A-{p}) =06V Nbd N of p
B v &

(A) D(Q) = D(R-Q) = D(I)

(B) D(Q) » D(R-Q) = D(I)

(C) D(Q) =D(R-Q) and D(I) = ¢
(D) D(Q) =¢, D(R-Q) = ¢, D(I)= &

https://www.ccsustudy.com
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27. The limit point of }-2, 2[ is 27. 1-2, 2 & < Fagah o wg @

AR Fhe solution of |x-1] < 1 (A) & Ix-1] < 1

(B) the solution of lell =1 (B) T |x-1] =1

(C) the solution of |x-1| 2 1 (C) & |x-1] 21

(D) the solution of |x-1} =1 (D) &7 |x-1] <1

428' set of real number 28. Trfds s &1 e
\ has a non empty derived set. P FRD FIGHT g TA &1
(A) Every finite'bounded set (A) =& Hfta 7 Rag T

(B) Every infinite set (B) w¥ A W=y

¥ L) Every infinite bounded set (C) a ¥ 7 aReg ey,

(D) Every infinite unbounded set

i (D) wW IAFE 7 IRag Wy
L=lim—— th he 1
E 29, Lot e
(A) L=0 (A) L=0
) L=1 (B) L=1
(C) 0<Ll<«x (C)0D<L<=
W L=w | ) O) L=x
_(}b. Consider the sequence 30. of2 S, =i:1+(_1)n ln} @
\
{
|

n
Sn = Ll + (-1}“%] , then (A) limsupS_=liminfS =1

(A) limsup S, =lminfS =1 (B) limsupS_=Ilim infS =e
(B) limsup Srl =liminfS =e

| 1
(C) limsup S, =liminfS = -
1 i
imsupS =1lminfS = —
(D) limsup S, = eand iminf S =~ Lt
noe
US-15105\R - o
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Which one is not a perfect set.

l

by oy = L
(A) A—Ix.x+n,n€N!
[ 1
~{x:x=m+=,neN,meN
(8) A {x X=m nne € }

[
(C} A:’x:x-—ia}-,ncﬂ,meﬂ}

] m n
(0) (B) and (C) and (A) also
Which is true

(A) Df".l (Q) = D(R-Q)

(E!_J D" (Q) # D""{R-Q)

A AC) DTH(Q) = D"(R-Q)

£

(D) D" (R-Q) = D™(Q)

Let S_={'x§[-:1:, 4] a'nt:l sin x > 0},
then which is true "
(A) InfS<0

(8) Sup S does not exist

\)Iﬁl Sup S=m, J

34.

(D) InfS=xn/2

Let F (x) = x e "2, where, n =z 1
and x € R, the < F_(x}> is

(A) Uniformly convergent on R
(B) Uniformly convergent of sub-

set of R
r -

)C) Bounded and not uniformly

convergent on R

(D) Unbounded functions

US-15105\R

32.

33.

31. ﬂquaﬁ%[

1
(A) A={X:X=H.0EN}

1
cy = = N,mGN}
(B) A;{x.)(—m'!-n.ne

1 1
- . N = — _-.neN,mEN}
(C] A”{z-x m*n

(D) (B) and (C) and (A) also
I 4 B |

(A) D™ (Q) # D(R-Q)

(8) D" (Q) = D"*}(R-Q)

(C) D" (Q) = D"(R-Q)

(D) D" (R-Q) = D"**(Q)

" BB 5= {xe[-1, 4] AR sinx>03},

\Tﬁﬁmﬂé’r%
(A) s S<0
(B) o1 S, & B
{C) 3P S=n
(D) =@ S==x/2

. IIPH < F (x) > , where,

F (x) = xe™ ﬁ?nzlaxERgﬂﬂ

(A) R W U6 GAFRT AR |

(B) R & W T & fore HUwRr

(€) WRag g E T A
il

(D) smiRag wer

https://www.ccsustudy.com
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For the sequence S, = -;;,v e>0

IS, ~0l<e if

(A) n<-logeflog3

/(.B) n>logeflog3

, (C) n>-1leg ¢/ log 3

3

(D) n<logeflog 3

Let S = {f: R3R| 3 €>0 such that

V520, Ix-yl<d=|f(x)-f(y)I<e}

then ‘

(A) S={f: R-R| f is continuous)

(BY~S={f : RoR| f is uniformiy
contlnuou-s}

(C) S={f: R—»R| fis bounded}

(D) S={f: R-R| fis constant}

7. Let f: (0, «)}->R is uniformly con-
tinuous, thef

\_/G-;i) lim “fx) and lim £(x) exist
(B} llm f(x) exist but I:m f(x)

P dnes not exist
(C) JL"& f(X) does not exist, but
fim f(x} exist
(D) neither lim f(x) exist nor

lim f(x) exist
X=pon

US-15105\R
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ﬁsﬂ_?faa't F-—O

IS,~0l << am-

*(A) n<-loge/log3

36.

37.

(B) S={f:

(B) n>log &/ log 3

(C) n>-loge/flog 3
(D) n<lag ¢/ log 3
B i S= {f: R5R| 3 >0 such that

78>0, Ix-yl<&=1f(x)-f(y)}<e}

™

(A) S={f: R=R| f @ &}

R-R| f ¥ A Wad
2}

(C) S={f: R>R| fufmz &)

(D) S={f:R-R] fFR 2}

o e i f

o &, @

(A) lim ) 7 lim 100 sfeced

(8) Jim f(x) gm, w=g lim f(x)
& ami

© Jim f0 T @m, wy
}.i'fl f(x) g

(D) 7 lim f(x) g =& lim f(x)
NI

: (0, =)>R & HAF:

P.T.O.
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b@&. Let BCR and every Infinité sequence

38.

in B has a subsequence which con-

';rerges in B. The ébovle statement

is true if'-. |
B=[0, [

{(B) B=1[0,1]v][3, 4]

(C) B=[-1,1[{ U [}, 2)

(D) B=]-1,1]

Let {S } be a real sequence such

that S, 2 1 and Sr;u z S +1 ther;

which is true.

(A) The series £S -2 diverges

y/(B) <S,> is bounded

(C) The series 5 -2 converges

“4(D) The series ZS_-1 Is converges

40.

3

2n
n+3

then using

Let 5, = = —é and lim S, =2,
ve>0, [S_n—elc:_i‘ ¥ nzM, gives
A) M=28 ° i

(B) M<28

(C) M> 28

(D) M=28

Domain of a sequence is always

(A) Set of Real Number

(B) Set of Integers

A _{L) Set of Natural Number

(D) All the abovye

US-15105\R

[12)

38. uf¥ BCR 3R B # 1® Hd TP &
: ww#aﬁaﬁmﬁmﬁﬁm%l

T v wE 8, afR

) 8= (0o

(B) B=1[0, 1] (3, 4]
I‘(c) B =[-1, 1{V[1, 2]

(D) B =]-1, 1]

39. dft {S,} U AIM® B &, el

5,213 S, 25 +1 7@ B T

Rl

(A) At £S5 -2 swERe @t &

(B) <S> fag & .

(C) #oht 25 -2 AR & 2 |

(D) xS -1 HfwRa e 2
2n

n+i

40. afe S, =r;_‘E=% AR lim S,=2,

+3
G B R ve>0, |S ~el< E¥n2 M,
-
(A) M =28
(B) M<28
(C) M>28
(D) M=28

41, mars‘fﬂ?ma‘mg
. (A) R

(B) I
(C) N°
(D} IRH Wikt

https://www.ccsustudy.com
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42, The radius of convergence of

44.

5

power series
f(x) = Tx".logx
n=2
F%B) 1
(D) =

(A) ©
(C) 3

. Radius of convergence of power

. 0 l'l2
series &Z s

=1

(A) O (B) «

(C) 1 \AP) 2
If f is holomarphic in an open_nbd

of z,eC and £f'(zy) is absolutely

convergent, then

(A) fis constant

(B) fis polynomial

(C) fcan be extended to an entlire
function

(D) f(x) R ¥ xeR

Which Is not true

w4R) limn'/"-p

46.

(B) Iimn'/"=1
(C) Imn?/m=1q
(D) Both (B) and (C)

Which is not true-
1
(A) f(x) = §lﬂ; IS congnuous
¥ x>0 _
1
(B) f(x) = sln; is uniformly con-
tinuous v x>0
.1
(C) f(x)= sm; is continuous, but

not uniformly continuous
IxeR'!

(D) All the above

US-15105\R

[13]

42. wa A fx) = izx“ logx ) 3w

43.

44.

45.

46.

Bz &
(A) 0 (B) 1
() 3 (DY =

e Ao EZ“ZH%T ANFERoT B 2-

(A) O (8) =

(€)1 (D) 2

af& z,«C & Riga anfta A £ e
2ok = (z,) PrYem sfrafa 2
4

(A) famRdl

(B) fuss ague &

(C) f T v Hd7 INNT BT T
faafRa B 51 woar 21

(D) f(x) eR AW xeR ¥ Bro|
B T 8 #

(A) limn'/"=0

(B) limn'/"=1

(C) limn2/"=1

(D) Both (B) and (C)

B FTd &

(A} F(x) = sin% FEEY x>0 |

(B) f(x)= sini U6 99 9 W |ad
g v x>0

(C) f(x)= sin%'ﬁﬂﬂ%ﬂ"ﬁ;%"ﬂﬂﬁ
TTH T Vv x cR*
(D) mw

P.T.O.

https://www.ccsustudy.com



https://www.ccsustudy.com

47. Let f and g are entire function and

g(z) = 0 v zec. If |f(2)I<l9@)|,
then .

(A) Kz} =0 ¥ 2ecC

(8) (2) is constant function

(C) O) =0 ’

(D) f{2) =_ag(z) for some aec

48. The function f ; c—c defined by

49.

: 1
ﬁz)'—‘e“*e—z has

(A) finitely many zeros
{B) no zeros

AL} only real zeros

{D) has infinitely many zeros

Which s true, for
1

fx) = x*sin— ¥ xe[-1, 1

(R) f(x) is continuous

(B) f(x) s notcontinuous ¥ xe[~1,1]
(C) €(x) is not bounded

(D) All the above

SG. Radius of convergence of the
power series éz(log 0z s
(A) O (8) -1
(C) 1 (D) 2

51. Domain of convergence of power
serws li{z*.‘,ifi)-‘-n'rs {_iff?
(A} [z-1-i| = 2
(B) |z-1-i] < 2
(C) |2+1+4i] >;
(D) lz+1+i| < ‘2'/

UsS-15105\R

49.

50.

al.

iz < [g(2)], @

(A) f(z)z0VvZeC

(8) Hz) T FR &H &

(C) f(0)=10

(D) f2) =ag(z]%ﬁaec$%l!
Qi‘ﬁf:c—aca’ffaiqﬁmﬁﬂg
f(z)=e‘+§-$m‘mi

(A) WRitaa: agd LT3

(8) B I

(C) ¥ adfas LD

(0) FRBiea: TgT LTI

R fix) = xzsinxiz v xe[-1, 1]
oF ¥ &

(A) f(x) wad 2l

(B) f(x) 3/d ¢ v xe(-1,1]

(C) f(x) Rz & !
(D) 34¥es AW

ara Aot n}':;z(mg ny! /2™ @ wERa

(B) -1
(D) 2

T Ao E[z +2Ii+1] "
P B FgwiRa 2-
(A) 1z-1-i] = 2
(B) l|z-1-i] < 2
(C) 1z+1+4i] > 2

(D) |z+1+4i] < 2

https://www.ccsustudy.com
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&-9 The domain of the sequence 52. R S, =(-1) sa BT T 2
- n_ -

Sa=(~ 1) is
(A) <~1, 1>
[A} <=1, 1>
B) {-1, 1
(8) {-1, 1} ®) (-1, 1}
(€) (-1, 1] (@111
CAD) Set of Natural Number, N (D) N
j53 Iff(x) = x v xe(0,1], then L(P, f) 53. TR f(x) = x 7 x<[0,1], T (P, f) &
equalto ____ for the partition 1
F-l' 1}
{0'1, gr 1} By ol 3 & Fdl!
3’3 , ,
2 y 2 (A) 3 (8) "3
A 5 (® -3 1 1
1 1 (©) - (D) -
- 3 0) -3 3 3
xz XEQ ) xzr Xe Q
L 54. afe f(x) =
54. If f(x) L3 R0 (%) 2 x<R_Q
then f' £(x) dx is equal to - f_u f(x) dx wR Am-
12 12 12 12
() 33 (8) - &) *3“1 ® "3
31 31 31
e 05 ©- -z ®F
55. Let f(x) be a function on [0,1] de- 55. afe f{x)=§ and
1 (1),
fined by f(x)=i- and f\ZJ_O' f%:ﬁ‘:‘xe[o,l]then

then

] Cfx) = F(x)
(A) I; ftx)=§f(x> A L

1 t
®) [f00=] 70 @ |00t
o 5 1 )
l ‘ (C) _J'_jle)« ; F(x)
(C) _JOf(x)c: g f (x)
(D) f«R[0,1) (D) fR[01]
US-15105\R s -,

https://www.ccsustudy.com



https://www.ccsustudy.com

ith a,b
SE. 1f P, and P, two partitions on [a,b]

M then
(A) U(P, ) =L(Py )
AB) V(PN <L (P )
(€) U (P, ) >L (P, )
(©) U (P, )>L(P,T)
57y Let f is R-Integrable on [a, b] and
P, is refinement of P, then
A) U (LA >U(P, D
}}» uElHsuP,n
(C) UPLDH2U P, D
@) U, H=UP,N
. The solution of equation \
L [Sa-1]<e is -
) St
(B) Sn>1-¢
(C) 1-e<Sn<1l+e
(D) 1-e>5p>1+¢€

Cﬁ. jz-1]+]z-i] = 10 is @
(A) Cirde

(B) Hyperbola

(D) elipse

JO. iz]I=5isa |
JHA) arde

\/(BJ circle with centre at onigin and
1 . . r 4
radius 5 unit

(C) kne
(D) circle with radius S unit

US-15105\R (16]

56.

57.

58.

59.

60.

uﬁPiapzﬁoﬁﬁwéﬂ’fﬂﬁﬂm
3 &
(A) U (P £} = L (P f)

8) U (P, )<L Pl

(€) VP, fzL(Pyf)

(o) u (P, f)>LPy f) .
o £ [a, b] W R-yEEAT & IR
p,,, P, 1 Reprg=s sferam & 7€ -

(A) U(P, f)>VU (P,

(8 U(P, U PP

(C) U(P, 2V (Pyf)

(D) U (P, f)=U(Py f)

TR |So-1 < BN EA &

(A) Sp<l+e

(B) Sn>1-¢

(C) 1—E<Sn<1*f€
D) 1-e>Sa>14c N
|z-1|+]2-i| = 102 &

(A) T
(8) Afowac
(C)

(D) drigm

1z]=5 & &

(A) 7@

(B) 3. &% (0, 0) B 5 unit
(C) @

(D) 7%, f=an 5 unit

https://www.ccsustudy.com
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(%1, The solution of |x - 5| = 8 is

>&C) Xx<3, x>13

SP) xz13

n
6a. lIm T is equal to
e

1
AR) e B). ¢

(€)1 (b)) -1

?3. lim EEJ_TS]_EES equal to
Y (A) 3
9 27
. The limit point of the set
L‘&‘ Az{x:x=%,reﬂ}i5
A) 1 (8 -1
10 o (D) 2

1
’ 5-& __-'d i i
\/Pa {' -7 dx isan integral of

(B) -27
(D) -3.

(A) ImproperIntegral

(B) Improper Integral of first kind

(/x:) Improper Integra! of second

kind

(D) Proper Integral

US-15105\R

61.

62.

63.

64.

65.

TSR |x - S| > B B EA @
(A) x< 3

(B) x<3

(C) x<3,x>13

(D) x =13

&y lim —— #
(n)°

m |-

(A) e (B)

(€)1 (D) -1

(A) 3 (B) -27

(C) 27 (D) -3

wA:{x:le.,reN}
i r

& W fog &

(A) 1 (B) -1

(C) 0 (D) 2

4

inl

(A) R w9 €

(B) Ffad AR W YR B TSR
&l

(C) FRTa IR B R & T
2

(D) 3FE wwEeE 2

dx ™

P.T.0.
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! sinX dx %

\,;Glgm_xd*rs 8- o

ﬂproperlntegral (a) St TR
(B) Improper Integral (B) ﬂiﬁlﬁw
(C) Improper Integral of first kind ©, o TR

(D) Improper Integral of second

' (D) fm e R R

kind
r c -1t dt -
j7_ j e™dt isequalto o 67. LE WE’W
4] . - LY
| (R) T (A) :.
SR ®
(C) -t . (C) -r
1
(D) ";.' r
‘ﬂs- ; e* dx is Iﬁs- iﬂex dx g
: (A) Convergent (A) AR
\/wr Divergent (B) ORI
(C) Conditional convergent (C) wergen e
(D) Zero (D) T4
n
p69. l‘_‘:’l_l l‘i equals 69. Alﬂ(l--[:%} TR &-
(A) 1 - (A) 1
1 1
& 7 (8) Tz
> 1
€ & (©) &
1 1
US-15105\R (18]
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Consider a sequence <S,> such

that S, e (-1, 1), then

(A) Every limit point of {S.} is in
(-1, 1)

Q)p; Every limit point of {S,}isIn

71.

72.

[-1: 1.]-
(C) Theonfylimltpnintsare—:].,o,l
(D) The limit points are not -1,0,1

1~
Let f(x,y) = __cz;-s(x; ¥) and
X“ 4y

1
f(0r0)= 5 , and

a(x,y) =L:Cﬂf_y_}‘ X+yz0

s (x+yy
a(x, y) ~—;1! iFx+y =0
then which not true
(A) fis continuous on (0,0)
(B) fIs continuous every where
except (0,0)
(C) g is continuous at (0,0)
(D) g is continuous every where

Let <a > be a real sequence, where
= D)
z la, -an_llj‘“ then the series

n-1

¥a x , xeR Is convergent
(A) no where on E//
(B) every where on R L

—
(C) on (-I.IL/'

(D) only on ]-1,1[

US-15105\R

70.

71.

72.

¢ 3 <S> b & s

Sn = (-1, 1), 74

(A) Bt R (-1, 1) § &)
(B8) W g (-1, 1) 8 &)
(C) -1, 0, 1 9w frg &1
(D) -1, 0, 1 ¥imia frg = &
afe

1-cos(x +y) i
f P = ==
(x Y) x‘z‘-yz ' f(oru) 2:
a g(x,y) = 1._';-95("*’0.1—? =0
(x+yY

a(x, y}=; if x+y = 0 &4 354 2

(A) f(0,0) & wad 21

(B) f & 3% ®ad ¢, | (0.0) W
el

(C) g (0,0) W et Bl

(D) g W9 FR Faa #

3|a$::r<an>aﬁ§1|a,,-an_l|<x

ag Al $a x ', xR FHERY 2

(A) R R & W 7&)

(B) R ® ada

() (-L1) ®

(0) &F |-,1I[ |

P.T.0.
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73. Improper Rlemann Integrq_l
I; yt2.dy is
(A) Continuous in [0, =[

(B) Continuous only in (0,)

(C) Discontinuous in (0,)

1
(D) Discontinuous only in [5' 00]

74. Let f : R—R be a continuous func-
tion and f(x+1)=f{x) v xeR, then
| (A) fis p_qyn.f,feg __g-bﬁéwe;‘ but not
bounded below
(B) fis bounded, but not attain its

_bounds. Y
(G) f Is bounded and attain its
bounds

(D) fis not uniformly continuous

-

z

and _S_,(:f] =1

z2+2
T, =
75. If T,(z) ;13

then 5,‘_1_.'!', (z}}s‘\
Z42

(B) z-2

(C) 2-2

(D) z-1

CIf Ti(e)-2220
__(_f)ﬂl
wrﬂ@hf' —

¥ - _2 —
W 55 e
(0)

, then T(2z) isﬁ

N
M

+
+

zZ-3

Z+3
Z-.‘-

w W

NN

(©)

¥

(Y
N

US-15105\R

[20]

-.’(Y-lledy ?
23, ﬁﬁawwﬁ Jo

(A) [0, o[ # Wl
(B) A (0,») & Tl
(C) (0,=) ¥ FFdl
1 )
(D) @™ ['Z‘r ”}i ¥ Fgad|

?4.ﬂﬁf:R+REﬂ5WW#W

f(x+1)=f(x) ¥ xeR, T
(A) fFR Y g & aog B J 7
(B) f ez &, WY Mgl W T

qgad|
(C) feRaz & weg aRwgl o T
#
" (D) fve wHra A waa B
2 z
75. gfé T|(2J=:—:§ a5@2)=yq ™
st.T()#
(A) z+ 2
(B) z-2
(C) 2-z
(®) z-1
76. Wa=T@)IRT 0)=2"m
: —
T(z)-
z-2 Z+2
(A) 73 (B) —
Z+3 z-3
(C) 212 (D) y3

https://www.ccsustudy.com
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77. Which of the following are  conver-

gent,

Tn2 t.

(A) o

(8) T2

Q)

;——\.i‘_.
j—l-
“-—_..-d‘

IfFS= {}T -1Ln eN’ . thEn D(s)_‘i_s_

(A) 1 Lal, Ly
-fj

37' - . .
(B) {1) 3

A -

7

J} fgeR[a,b]

K&'

(D) {-1}
If feR[a,b] and geR(a,b], then

(B) fgeR{ab]
(C) Both (A) and (B)

(D) None of the above

If £ 0 X<@
X Xe

R-Q then f is con-

tinuous at x=
(A) 1

(B) -1

A0

US-15105\R

(D) every where
[21]

77. 3 R &

78,

79.

80.

1
A} In®.—
(A) >

D P
(B) Ln—zz

() -

n Iog

-

‘:I|b-

I"l|Og [

J

af s- {—-1 nFN} a1 D(s) &
(A) 1

(B) {1}

(€) -1

(D) {-1}

qie feR[a,b] and g<R[a,b], 7@
(A) fgcR[a,b]

(B) fgeR[a,b]

(C) (A) T (B) A

(D) 3WIh & B AR

R fFix )10 X€Q vt d

xeR-Q
x=
A) 1
(B) -1
(C) o0

(D) every where

P.T.O.
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b}
|4

j{, ]fS={x:x=m+~£,m,neNJ\ then
. r n .

D(s) is |

_HPML A
*(B) {0}
AE) 0
(D) {¢}
sz, Every cauchy sequence is
(A) bounded -
ﬂ Convergent and bounded
(C) Divergent
(D) May be convergent
3. Every convergent sequence
"(ﬁ' (A) has limit point
(B) has limit and limit point

—

(C) has limit point and bounds

\/{5) all the above

‘/ftl. Cauchy - Riemann equations are for
the analytic function f(z) = u+iv

—_— m——
——

(A) :x=-.i:uy—vx

(B) u, ==V, U ==V,
o) U= Ve Yy =Yy

(D) u, =v,u =v,

If f(z) = u+iv is analytic function
and u;_e’(x cos y - y sin y), then
f(z) is

L/{5.
(A) z’e%+c¢

/wf zei4¢

(C) z%e??4c

(D) z%e*4e?

US-15105\R

81. g S:{x:x=m+ﬁ

82.

. 83.

84'

85.

I,m,neN} L

D(s) &

(A) ¢

(B) {0}

(C) 0

(D) {¢}

e el 3w BRI 3

(A) TREE

(8) afirerd 3 Reg

(C) FoRy

(D) FRrard e w8l
e TSl S T -
(A) e W g

(B) A 7 dmra firg

() dm g TRegH:

(D) FRres W1l

f(z) = u+wa:%v$15?ri}nﬁﬂﬁrm
.8 | -

(A) U, =-v, U, -"Mfrr

(B) u = Ve Uy = 7V,

(C) u = Ve U, = -V,

(D) u =v, u =v

ol f(z) = u+iv @ et oem &
3R u=e'(x cos y - y sin y), 9 f(2)
3

(A) z%e%*+c¢

(B) ze*+c

(C) z?e¥+c

(D) z%e’+e*

https://www.ccsustudy.com
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(B) Convergent
(C) May be convergent
(D) Finite
The em'pty set ¢ [s
(A) Open
(B) Closed
‘_/ﬂ:) Open and Closed both
(D} Finite
82. Intersection of all closed set con-

{.~ taining a closed set A, is equal to

— — g e B

———

.- @B) A
(C) {0}
(D) {o}
89. Consider f(z):% a8 mobius trans-
formation, zec and z # 0, then f
maps (¢\{0}) to a

Is a circle with positive radius pass-

....... . where ¢

mg through the origin.
(A) Circle
&—(B) Line
(C) Line passing through (0,0)
(D) Line not passing through (0,0)

US-15105\R

[23]

86. |

87.

88.

89.

i dx

0 X3 (L+x2)
(A) FTERT

(B) R

(C) HBR & Tt &

(D) Vfm

= b 3

(A) g

(B) &=

(C) G q &< 2l

(D) ¥

Wi §= W= S I 9a A, B
@A B, 74 (A) AT

(A) ¢

(B) A

(C) {0}

(D) {¢}

Iﬂﬁaﬂwf{zhé, zeC, 2% 0
& F<I f (\{0)) B ....... i ¢
wHR b gs A Tam
oRar &

(A) gl

(B) ¥

(C) W { [RaT |
(D) T B} & TERal )

P.T.0.
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S AL
T

90, Let z-e7 and 0-2' 1242, g0, aft z-¢’
;_ggrthen T
(A) GeQ (A) 0cQ
(B) U‘f Q (/D) for some D>0 (B) 0eQ (D) for some D>0
(C) 0 Q (vD) for some D<0 (C) 0eQ (D) for some D<0
(D) 6¢iR 54 (D) 0¢ciR
9. Which is true- T o1 oH @i
A wo@-es (n) D(Q) =R
SCEIUEL (8) D (R-Q) = R
(€) DR) =D (€) D(R) =D (Q)
D) All the above (D) All the above
p2. 1fz = x+iy and Z =x~iy then 92, o z = x+iy T Z=X-IyT@
H‘/ (A) z.2=1zP (A) z.7-zf

() All the above

7

(B) 2.7 x?+y? (®) 2.Z=x2+y"

s 2 o2 2, 2 z 'z‘sit’;fz+y2‘|\|x2+v2
(C) z.z:i\'x +y )vx +ye (C) 2- \ )

(D) Allthe above

Radius of circle [5z+15-16i] = 20 93. 3@ |5z+15-16i| = 20 B Bsur &

is (A) 15
(A) 15 (B) 20
(B) 20

(C) 5
(C) 5

‘/ﬂ;)q (D) 4

US-15105\R [24]
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9S.

Q‘Z.
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/Xy which Is / are trye.

(A) f(z} Is analytic at origin

(B) f(z)is not differentiable at ori-
gin

(C) Cauchy - Riemann equations
does not satisfy at origin

(D} None of the aboye

If f{z) = logz then

(A) f(z) is analaytic everywhere

(B) f(z) is not continuous every-
where

(C) f(z} is not analytic at uri,gih

(D) f(2) is analytic at origin

I z,42,)% = |z,1%+z,|? then

(A) 2,2z, is pure real

(B) 2z,Z, is pure real

(C) z,z, is pure Imaginary

(D) 2,7 Is pure Imaginary

Let ficoc is a holomorphic func-
tion and f(z) = u+iv, then
If'{x+iy}|?is equal to

(A) ul+ uv2

(B) ul+v?

(C) v, +u]

/(D) All the above

US-15105\R

94.

f(z) - Jxy & fomw v @

(A) f(z) R & e W

(B) f[_z)szmrqraaasaﬁ'm#

(C) ﬁaﬂfﬂuﬁmmw#@z
& &

(D) IR & B ¢

95. dfx f(zj = logz @@

96.

97.

(A) f(z) Redms & T 7

(B) f(z) ¥ Iz wera = 2

(C) f(z) m R favome T2 2

(D) f(z) oM R favces ?

e |z,+42,17 = lz,1*+|z, 12 7@
(A) z,z, Pla: avafds 21

(B) 2z, 7, Pf: awids ¢

(C) z,2, Tha: oo 2|

(D) z,3, Qia: S 2l

afe f : ¢ > ¢ 0B AAGS B & 3k
f(z) = u+iv, 8, @@ |F(x+iy) | T IE
2l

(AY u2+u?

(B) u?+v?

(C) v?z + u",2

(D) All the above

P.T.O.
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8. Harmonic conjugate of 98. wear sy Far & Ak
. 1
V{; u=%log (xz*Yz) is U=E|og (x2+y2]
) T R 1
| (v
tan™! f+c (A) tant{ L]+ c
w X \ X
i [ N (-
3 (%
1|12 tan|=[+cC
(B) tan " +C (B) 3
f (x\
COt_I ZE +C Cot'l Zl+cC
(C) v) (€) 7
( \
-1 Y ) -1 i
(D) cot X +C _(D) cot X +C
»)
x2+x3, xeQ x2+x3, xeQ [ ¢
U ' then 99. af f(x aq
?9 If f(x) X+X2; XxeR-Q T | () X+X2, X <R-Q 0
- -2 2 : ' E T S '
| fand | fare - gk fR
0 "o 2o
12 12 ' 12 E
(A) 5383 (A) 2555
: 53 83 53 83
8 12'12 (B) 1212
83 53 83 53
© 212 S © 5y
12 12 12 _1_%
) %353 (P) 53'53
0.If A is a closed set then D(A) 100.9f A &< W= & 7@ D(A) BhTI-
3{) [ j (A) I Bl
(A) does not exist
(B) D(A)cA
)B) D(A)c A
| (C) D(A)oA
(C) D(A)DA
(D) D(A)=¢
(D) D(A) =4
US-15105\R [26]
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